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S = Sy = constant (5)
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9 = go cos{(r/2)z/L] (6)
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k= koT? (7)
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R=p* A(T) (8)
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R=p*-Ny(p) - MT) (9)
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A(T) =~ Ag - 10D (10)

0 = log,o(T/Ta) (11)
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exp[1.5(6 + 0.08)] + exp[—2(6 + 0.08)]
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O(f) =0.49 — 3+ 3 x (12)

Ap(p) = (pe1/p) tanh(p/per) (13)
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H =p h(x) (14)
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h(z)=R/p at t=0 (15)
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Hy = Hgo - q(t) - f(7) (16)
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Op/0x =0, Op/dx=0, V,=0 (21)
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goooo L 130 26000 km
goooo Ty 12.5 2500 km
goooo Teor 200 2 MK
0oooono Hyo 5x107*  3ergem™3 57!
goooo wy 30 6000 km
goooo Tt 12 240 s
goooo Ko 3x 1071 1076 cgs
oooo Ao 10° 8 x 10~ 2erg s7! cm?
gooooo Ta 20 2 x10° K
gooooo Tl 10—® 102 cm—3
oooo T 1 10* K

oooo 2 1 107 cm—3
oooooooog  Hy 1 200 km
oooo Cso 1 10 km /s
oooooo0oon 70 = Ho/Cso 1 20s

oooo 90 1/ 270 m /s>
ooooo T o poH?/(koTy'?) 3 x 1010

oooo 7a o Ter/(poAo) 2 x 1078

O 1.00000000oooon



